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Ne IERIP | kA | IERIP | A |IBRIP | R | JBGRIP | 3R | JERIP | =& | IERIP | kA | JEfP | FRA |IBRP| FA | IEWEP| %A | IBRP| FA | JERP 3= B
108[F1E WY BAMRERE RS 711335 20 | 1,974 7] 1,418 16 | 1,822 50 6,549 4
163| AT mMitF |AXBEMEHS SHAR 171,678 12 | 1,567 7] 1,414 511,250 41 5,909 4
131|EH FE AARRAREHE 61275 511,188 20] 1,621 711547 38 5,631 4
104[ihEH EE BAMRERE RS 211,776 61276 6] 1,274 3] 1,002 36 5,328 4
148|158k #F AARBEREHE 711328 511,226 7] 1,412 12 | 1,747 31 5,713 4
138 EEEE BARIRAETHE 6| 1,284 711357 5| 1,271 711479 25 5,391 4
137(A ¥ AARRIRAREHE 8 | 1,405 311,080 8| 1,428 6] 1,299 25 5212 4
154[H8 Kt BEHBFAILFr— 6] 1,266 6| 1227 6| 1,358 6] 1,288 24 5,139 4
124[B#F = AXBEREHE &IILS 511,197 6| 1,334 5| 1,245 411,131 20 4,907 4
139|4TE A AARIRAREHE 61,275 7] 1,403 711539 20 4217 3
12|/ & AARIFAREHE 9| 1,452 3] 1,096 8| 1,580 20 4,128 3
109| R SF BARERSHE AR 13| 1,511 4] 1,127 311,040 20 3,678 3
110[+iH HF BARERSHE AR 16 | 1,711 1] 871 311,055 20 3,637 3
103[MIE %54 BAREMREHS #H5/83X 8| 1,409 12| 1,431 20 2,840 2
116[#% X8 BAREHERS HTHAEUTRNS 20 | 1,915 20 1,915 1
120[$ K EEF AXRBEREHE &IILS 511,220 5] 1,162 3| 1,069 6| 1,345 19 4,796 4
135|FR #E AARIRAREHE 3] 979 711372 3| 1,052 5] 1.211 18 4614 4
123[8RH  ALF AARBEREHE &IILS 711,324 8| 1,496 2| 9 1] 809 18 4,570 4
12|RE EE AXREAEHE BFEXRE 711374 711478 411,114 18 3,966 3
125\ E#F AXRBEREHE &IILS 7] 1,394 5| 1,232 511,260 17 3,886 3
167[7%A IEF BARERSHS #H5/83X 0 0 16] 1,582 16 1,582 2
129|HBEVAF AXRBEREHE gnENE 2| 957 411,115 2| 1,023 7] 1,402 15 4,497 4
5 = AXRBEREHE &IILS 3| 977 21,042 6| 1,303 411,140 15 4,462 4
15510 RiEF  |AAREMREHS SAR 511,179 1] 895 4] 1,162 5] 1,165 15 4,401 4
H4ER R BAREHERS HTHAEUTRNS 6| 1,242 1] 934 6] 1,269 13 3,445 3
150[00F &EF AARRIRAREHE 5| 1,204 1] 871 4| 1,154 1| 706 11 3,935 4
1433 F =F AARBEREHE &IILS 1] 861 411,159 6] 1,325 11 3,345 3
157[Kth ALY |AAMEER 311,036 3| 1,106 411,126 10 3,268 3
165[3 2@ [EF BARERSHE AR 3| 1,064 5| 1,200 2| 896 10 3,160 3
14180 &F AXRBEREHE &IILS 8| 1,422 2| 942 10 2,364 2
I ESCEE T BAREREHS B EE 2| 928 411,134 3| 1,088 9 3,150 3
He|EER AXBEREHE &IILS 8| 1,382 8 1,382 1
162\ KiE HE BAREREHS #H5/83X 2| 964 2] 915 1] 779 1] 698 6 3,356 4
161l BF AARBEREHE &IILS 411177 2| 1,034 6 2211 2
17| KB #BF EES Fhe AR 1] 829 4] 1,135 5 1,964 2
164|3R A .%éi% a:tgggig FE ga%& 51,168 5 1,168 1
156/ BEEF |AXRBERREEHE #H5/89X 1| 878 2| 1,011 1] 849 4 2,738 3
158|2% ERF BARERSHE AR 4] 1,121 4 1,121 1
160| M A4k BARERSHE AR 4| 147 4 147 1
166 | {FE AR BAREFHREGS 3 [ 1,071 3 1,071 1
159[;F & BAREMREHS #H5/83X 311,045 3 1,045 1
106 M2 RF BAMERE RS 3 | 1,004 3 1,004 1
122[t8  F AXBEREHE &IILS 2| 873 2 873 1
115[#R BAREHERS HITHAEUTRNS 2| 853 2 853 1
145 Elfl:l jﬂ? BABERSHE A 1] 920 1 920 1
130FS EE | BAREAERS 1] 87 1 871 1
997[X % v A [(EZEZT) 411,085 804 1] 927 5 2,816 3
998| X & v 7B (BERT) 2| 928 411,130 6 2,058 2
999| X & v JC (BERT) 211,051 2| 896 4 1,947 2




